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Note : First 18 minutes time has been allotted for the candidates to read the question paper.
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General Instructions :

(i)  There are inall nine questions in this question paper.

(1) All questions are compulsory.

(iii) In the beginning of each question, the numberofpamwbememp(cdhnbomclcaﬂy
mentioned.
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* Do all the parts :
(+2]
 Select the correct option of each part and write it 0n your ansiwer-book.
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(c) IfA is & square matrix and A% = A, then (A = I)’ - TA will be ©
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() Afunctionf: R~ Ris defined by {(z) = 3x Vx & R. then fumction fwill be :
(A) Not one-one o
(B) Not onto
(©) Omo
(D) Many-one
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2. Doallthe parts : ;
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(a) Ify=A + Bé', then prove -d,-o.vtm,cmumw
d_2-1 y
(b) Solve the differential equation 77 B
(c) Sbowd\uj(x)-lxlisoouthamfmdlvnhnofx. 1
N
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(@ Given any two events A and fjre such that FA) =3, P(B) = g and P(A 1 B) =g,
then find P{not A and not B). 1
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Do all the parts : ~
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(a) |fy'4m9*3tin9.lben§v:ﬂm%--y 2

(b) Find the Cartesian equation of a line which passes through point (3, <2, ~5) and

parallel to the vector (31 + 2) - 2k) 2
o |
(©) mmammn%-amx. 2

(@) HTBmdTweveckorsmnd®+ b+ =0, then find the vahae of (3 B+ B¢+ %) 2
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also be an equivalence relation on A, g" 2
n?

Find the value of [ sin®x dr. P
-7
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There are two children in a family. It is known thahere is at least cne child is
N

boy. then find the probability that both children are ¥4 s
~
Find the interval in which the given function f{x) = x* ~ &x + 6 is (i) Increasing
(i) Decreasing. 2
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5. Doall the parts
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valees of x, y and 2, g\, L)
(%) Find the differential coefficient of y = ¥ + (sin x)* with respect to x. s
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(&) Find the minimum value of Z = 3x + y by the graphical method under the
following constraints : ;;
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(a) Show that (31 - 4j - 4k, 2l -Touu(i-)j-s&)mummd

vertices of a right angle triangle. -
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First ball is not placed back befife the second is taken out. Ansume that the taking
out of cach ball from the bag 15" equally likely, What s the probability that both

balls taken out are white 7 =
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(b)  Solve the system of equationty s
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A +y-3z=0

X =y *z~4=0by matnix method.,
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